In the 5th episode Toad Man did this shit







So Toad Man launched a missile that created an acid rain storm. Now the acid rain cloud most
likely covered the entire park due to the fact that it stretched across mountains and hills,
covered the sun, Wily had to evacuate his Robot Masters immediately, and Mega Man had to
disperse the cloud rather than run to where it ended, likely meaning it was too big.

METHOD 1:

Now Mega Man'’s city is fictional but many parts of it are based on New York like the times
squared so we can assume its similar in size and scope. Now it is admittedly a slight stretch to
assume it reached all throughout the city but since it stretched across the mountains it isn’'t a
massive stretch. The biggest piece of evidence for this storm reaching that far is when it gets
converted into an antidote cloud it cures all the robots of a virus that happened. Considering all
the robots got cured it should likely have reached the entire city.

If you buy it being that far and are wondering it would be anywhere from 808 Kilotons to 7.79

Megatons of TNT.

(Yeah the calc ain’t much but there is no clear endpoint for the storm in sight.)


https://vsbattles.fandom.com/wiki/Storm_Calculations
https://vsbattles.fandom.com/wiki/Storm_Calculations

METHOD 2:

https://vsbattles.fandom.com/wiki/User blog:Rodri %22Dante%22/Mega Man (Ruby Spears):
Rain_rain_please_stop_melting_my_titanium_skin

This makes the feat 1.5 Megatons of TNT which lines up pretty consistently with the previous
one.
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